Core 1 Basic Algebra Answers — Mainly Surds

1() ( ﬁ) +205-245-4=1 M1 Multiplying out or difference of two
squares attempted
Al 2 Full marks for correct answer /no working
(b) J§ = 2\/5 : \/1_8 = BxE M1 Either correct
Answer =52 Al 2 Full marks for correct answer /no working
Total 4
4(a) . Multiplied out
4(\/E ) +1245-45-3 M1 At least 3 terms with /5 term
4(V5) =4x5 (=20) B1
Answer =17+11J5 Al 3
(D) | Either 75 =+ 25\/§ or +27= \/3\/3 M1 Or multiplying top and bottom by ﬁ
. 5+/3-3+/3 225 —4/81
Expression = \/:\/_“/: Al or 7\/_ or V2549 or 53
3 3
=2 Al 3 CSO
Total 6
\/E +3 \F +2 L ( \
—_— X M1 Multiplying top & bottom by =(+/5 +2
3@ | 55 5z plying top y = )
Numerator = 5+3v5 +2/5+6 M1 Multiplying out (condone one slip)
+(v5+3)(V5+2)
= 55+11 Al
Final answer = 55 + 11 Al 4 With clear evidence that denominator
=1
M) | 45 =35 Bl 1
(i) | /20 =+/4/50r 44/5 =4 )20 MI1 Both sides
or attempt to have equation with Js
or /20 only
[¥25=75-3J5]orxy20 =220 | Al or v =4
x=2 Al 3 CSO
Total 8
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— correct answer with all working
correct A2

multiplied out (allow one slip) 9 +3J7
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